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1| RN B% 310 35 718 2 BT 101 25, 4 AT ZE 42 E— W) 85.56 | 81.8 |59 |Zi¥h =K 495 11 2 FA TG 402 =5, i il = — A 78.23 | 69.3
2 IR AR 310 77 T 2 B 6 201 =, 5 A AT 225 FE — [ 85.56 | 82.3 |60 |Zi¥h =K 495 1k 2 BAIG 403 =, H il = — A 78.23 | 69.3
3| ZRIA S 310 57 3 1 B G 101 =, 45 AT 2R — 1) 92.06 | 88.7 |61 |ZRIE =K 492 118 2 BT 1302 2, Hfiti ek =5 — ) 78.51 | 72.8
4 | HRIRAIERK 310 557 3 M 1 70401 25, AT 22— 1) 92.06 | 96.2 |62 |ZRIk =R 492 118 2 BT 1303 25, i fi ek 25— ) 78.51 | 72.8
5 I A K 310 77 3% 1 B IG 102 25, 5 A AT 225 FE — [ 92.92 | 95.6 |63 |- =B 492 1IE 2 M0 1602 2, Arfigimk = — M (ABHCIE)| 78.51 | 74.2
6 |RIRARIEIE 31057 3 1 B0 202 %, i AT E 45— 92.92 | 96.3 |64 |ZRIF =449 5 1 2 #IT 1603 %, ififik = — W (AP LIE)| 78.51 | 73.2
TR 310 57 3 1 B 76 402 =, 45 AT E 4 E— A 92.92 | 91.1 |65 | Rk =K 495 1 2 BT 1702 25, Hfiti ek =5 — ) 78.51 | 75.7
8 | RINAIERK 310 557 208 3 B0 101 25, Y AT E 22— 1) 122.14 | 122.9 [ 66 |HEIR =549 5 1l 2 BT 1703 %, i 2= — A 78.51 | 74.7
9 | RIRAIE K 310 55 208 3 70 201 25, Y H AT ZE 22— 1) 122.14 | 122.1 | 67 |ARIR =% 495 1 2 BT 1802 25, A fifs 5k 25— ) 78.51 | 74.2
10 | ZE 0 A5 85 8% 310 7% 21 3 B0 401 =5, ¢ B AT ZE 42 E— W) 122.14 | 121.2 | 68 | Ik =L 8% 49 5 11 2 BT 1803 25, Hififh ik 25— ) 78.51 | 75.2
11| R A 5 8% 310 35 2118 3 B0 102 25, 4 FAT £ 4 — 1) 122.41 | 120.2 | 69 |38 = 585 495 3% 1 B 1 201 = 131.68 | 110.1
12| IR AR 310 3% 21 3 BT 202 %5, 4 AT B — 1A 122.41 | 120.4 [ 70 |ZRIN=TH8849 5 30 1 #1401 = 131.68 | 111.7
13| EIRA L 310 5% 211/ 3 BT 402 %5, 4 AT ZE &£ — ) 122.41 | 123.5 [ 71 |EIR=S 55495 41 1 BL1 201 2 120. 15 | 100. 4
14 | IR 50 310 75 218 5 8091401 25, AT 42— 106.17 | 107.4 | 72 | AW =58k 49 5 41 1 5301 = 120.15 | 101.2
15 | ZRIM A5 B% 310 3% 1 1 B0 101 25, 4 FAT £ 4 — 1) 92.06 | 88.7 | 73 |ZRIK=LEE 495 4% | BL G401 = 120.15 | 101.9
16 | AR I AR BB 310 5% 118 1 Ho0 201 =, HAT £ 4 — 1) 92.06 | 87.5 | 74 | =495 41 1 51101 = 120.84 | 107.5
17 | RIR AR B  310 75 1 1 591401 25, AT £ 42— 92.06 | 95.3 |75 | W=Dk 49 5 4% 1 51201 % 120.84 | 108.3
18 | ZRIR A< 5% 310 75 1 1 897 202 25, AT 2 42— 92.92 | 96.3 |76 | =DK% 49 5 410 1 #0202 %, i E 6 61.18 | 53.1
19 | IR 5% 310 75 1 1 891 402 25, Y AT 4225 — A 92.92 | 91.1 | 77 |EWM=1 %49 5 4105 1 A1 203 =, WGy = —[A) 61.18 | 54.1
20 | YL AR 2 723 55 4 M8 2 BT 302 =, i FAT 44— (A 115.96 | 113.5 | 78 |AIR = 8% 49 5 41 1 B 57 302 25, A fifh ek =5 — ) 61.18 | 53.5
21 |9 Ab 45 itk 723 FF A 1% 2 BT 502 25, 5 AT R R — 1) 115.96 | 115.4 | 79 |43k =LK 49 5 4 8 1 551 303 25, A fifi ek =5 — ) 61.18 | 54.5
22 [ AL 25 % 723 FF 4% 3 BT 202 25, 45 H AT ZE 2R — [ 115.96 | 120.5 | 80 |4 = 2% 49 5 4 1 BLIC 402 %, i % — 6] 61.18 | 54.9
23 | Il 4<% 723 5 4 1% 3 #7302 %, A AT L4 EE— 1) 115.96 | 117.5 [ 81 |ZIR = 8% 49 5 40 1 BT 403 25, ik i 25— i) 61.18 | 54.9
24 | WA AR 723 55 4 M8 3 BT 402 =, 7 FAT 44— (A 115.96 | 115.5 | 82 | RIN=TH1#% 49 5 418 1 H77 1502 =, i = — 1A 61.42 | 59.1
25 | AL 45 it 723 FF A % 3 B IC 501 25, A AT R R — 1A 115.96 | 113.4 | 83 | I =K 495 418 1 BT 1503 25, i fis ek 25— i) 61.42 | 60.1
26 | WAL 2R 723 7 5% 3 T 101 %, 4y HAT 42 F % — 1A 115.63 | 119.1 | 84 | AR ="51% 495 4 & 1 BT 1602 5, H fifs ik == — ) 61.42 | 59.5
27 |3kt 4<% 723 35 5l 3 BT 301 =, A AT 424 E— 1) 115.63 | 114.3 | 85 | IR =LK 495 418 1 BT 1603 2=, Hifif ek =5 — ) 61.42 | 58.5
28 | AL ZR 1% 723 FE 5 3 BT 501 =, A H AT 2R JFE — A 115.63 | 113.1 | 86 |ZRIK =K 495 418 1 BT 1702 2, Hfi ek 25— ) 61.42 | 59.9
29 | ML= PEIE 72 F 9 2 BRI 101 25, A ZE PE— ) 113.16 | 111.8 | 87 | IR =K 492418 1 BT 1703 25, i fig ek 25— ) 61.42 | 58.9
30 [T PR 72 5 9 Ik 2 BT 201 2, 47 ZE i — [1] 113.16 | 111.9 | 88 |AIR =LK 49 5 48 1 BT 204 25, 4 ZEfor — A 153.67 | 138.5
31| VRS 72 FF 9 2 BT 102 =5, 7 45 )5 — [ 113.16 | 111.8 [ 89 |43k = 8% 49 5 4% 1 BT 304 =5, W ZEfor — A 153.67 | 139.4
32 [T B 72 55 9 I 2 PR IT 202 25, 7 45— (] 113.16 | 112.9 | 90 |RIXR =% 495 4 & 1 81404 =, AL —A 153.67 | 140.3
33 |HEE PR 72 FF 9K 2 PR G 402 5, 5 ZEE — (A 113.16 | 117.9 | 91 |AIR =LK 495 418 2 B0 101 25, A 4o — A 153.67 | 137.5
34| KW= 5% 49 5 1 1 B0 301 =, WY A — A 137.28 | 125.6 | 92 | A= 58K 49 5 42 0 201 =, W HEA—A 153.67 | 138.5
35| HEIR= LMK 49 5 18 1 BT 401 =, B —A 137.28 | 126.4 | 93 | IR =% 49 5 48 2 B 51301 =, " ZEfr— A 153.67 | 139.4
36 | HRIR =LK 495 118 1 315601 = 137.28 | 118.1 | 94 | IR =LK 495 48 2 B 51 102 =5, H il ek 25— ) 61.18 | 52.8
37| EW =049 5 11 1 AT 701 = 137.28 | 118.9 | 95 |43 = LMK 495 41 2 FLI5 103 25, 1l % — [ 61.18 | 52.8
38| K =Bk 49 5 1 1 1 AT 801 = 137.28 | 119.7 | 96 |43 = 5% 49 5 418 2 HLI5 202 %, A5 % — ] 61.18 | 55.1
39 | 54 =K 49 5 1 i 1 AT 901 == 138.07 | 121.2 | 97 |43 =5 B4 49 5 4 1 2 B 75 203 5, 75 i % — ] 61.18 | 54.1
40 | R = ER 495 11 1 85 302 =5, A5l = — i) 63.77 | 55.7 | 98 |ZR¥h =K 495 41 2 BTG 302 =, Wi = — A 61.18 | 53.5
A\ EIR =% 49 5 1% 1 577 303 25, i fifi ek 25— |A) 63.77 | 56.7 |99 | &I =K 49 5 41 2 PG 303 =5, i = — ) 61.18 | 53.5
A2\ IR =88 49 5 1 1 BI1 402 25, il sk = — [A) 63.77 | 57.1 [100|ZHE = 5% 49 5 4% 2 FiIC 1402 %, i = — 0] 61.42 | 57.8
A3\ FEIR =84 49 5 11k 1 77 403 25, dfif ek = — 7] 63.77 | 57.1 101|488 = 5% 49 5 41 2 # 7T 1403 %, T %= — [ 61.42 | 57.8
A4 | R =R 495 1 1 BT 1504 % 93.68 | 85.6 |102|Z5Ik =K 492 418 2 BT 1502 25, Hifif ek 25— ) 61.42 | 59.1
45 | I =K 495 11 1 B 6 1704 5 93.68 | 86.7 [103|% ¥ =DK% 49 5 40 2 BT 1503 25, il % —[d 61.42 | 58.1
46 | IR =588 49 5 11 1 470 1804 = 93.68 | 86.2 [104|Z4bE =549 5 4% 2 L 1602 %, 1 %= — [0 61.42 | 58.5
AT \FEIR =84 49 5 11 2 B 77 301 =5, A fi ek = — |A) 93.02 | 81.3 [105| %4 =% 49 5 41 2 # 70 1603 %, 7 %= — (] 61.42 | 60.5
48 | ZR I = T % 49 2 1 1 2 BTG 304 ==, A5l = — ] 93.02 | 80.3 |106|Z5Ik =K 492 418 2 BT 1702 25, Hififi ek 25— ) 61.42 | 59.9
49 | I = 0K 495 11 2 PTG 401 =5, i = — ) 93.02 | 81.9 |107|VLFg AJEHIMIGIX 41 1 570 102 %, wF FAL— D 78.39 | 129.6
50 | Z 40 = T BK 49 5 18 2 FAIT 404 =5, 5 i ik = — [A] 93.02 | 80.9 |108|VLFdAJEHIMIGIX 41 1 It 103 %, W EAM—P 78.39 | 129.6
51| RIR=LK% 49 5 1 18 2 BT 601 25, i fifi ek 25— ) 93.02 | 83.0 |109VLFd AJEHIMIE X 418 1 56 303 %, w5y EAL— 78.39 | 130.8
52 | IR =% 49 5 1 8 2 BT 604 25, Hfili ek 25— ) 93.02 | 83.0 |110/VLFd AJEHIMIGIX 41 1 556 202 %, 5 FAL— 78.39 | 130.2
53 | I =" 495 11 2 o1 1701 = 93.68 | 86.7 |111|VLFd AJEHIMIGIX 418 1 576 203 %, wF FAL— P 78.39 | 130.2
54 | FRIR =54 495 118 2 BT 1704 % 93.68 | 86.7 |112|VLFd AJEHIEIX 611E 101 =, 77 00— 89.91 | 148.2
55 | IR = % 49 5 1 18 2 HL 9T 1801 =5 93.68 | 86.2 |L13|VLFd AJEHIIEIX 61 104 =, 77 00— 89.91 | 148.2
56 | IR = 1% 49 5 18 2 B 97 1804 = 93.68 | 86.2 |114|7LFd AJEHILIEIX 61 201 =, 77 60— 89.91 | 148.9
57 |45 = 1% 49 5 1 1 2 570 302 5, i ik 25— [ 78.23 | 67.9 [115|7LE AJEHIMIEX 6 M 204 &, w5 AL — 89.91 | 148.9
58| 44 = T B% 49 5 118 2 FAIT 303 =5, 5 i ik =5[] 78.23 | 69.9 |116[7TFg AJEH G X 81 302 =, iy AL —> 91.58 | 150.8
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